POWER TOOLS

IX

Premium Quality

RON

‘ S
D

f—
\w -

(7=

el

W

2710

Rotary Hammer 900W-28mm

www.ronixtools.com



RONIX

Premium Quality

POWER TOOLS

www.ronixtools.com

Number | Name Number | Name Number | Name Number | Name

1 Front Cap 33 Crank Shaft Case 65 Screw M4X10 98 Collar

2 Circlip 18X2 34 Side Knob spindle 66 Locking Plate 99 Square Head Screw M8*35
3 Slider Washer 35 Circlip 18 67 Rear Knob O-Ring 8*1.5 100 Holder

4 Slider Assy. 36 Locating Block 68 Rear Knob Assy. 101 Depth Gauge Fixing Block
5 Truncated Cone Spring 37 Knob Spring 4.2*0.5*20 69 Felt Plug 8.5*8 102 Auxiliary Handle
6 Cylinder Case 38 Side Knob 70 Bearing 6001 103 Depth Gauge
7 Screw M5x25 39 Screw M4*12 71 Washer 22*13*0.3

8 O-Ring ¢50*1.5 40 Grease Window Seat 72 Rotor

9 Steel Ball ¢7.14 41 O-Ring 37.5*1.8 73 Washer 16.5X8.2X0.5

10 Guard Ring Sleeve 42 Small Bevel Gear 74 Bearing 608

11 O-Ring 20X2 43 Bearing 6002 75 Self-Tapping Screw ST4.8X55

12 Second Striker 44 Second Gear 76 Air Guider

13 O-Ring 11X2 45 Steel Ball Fixing Plate 77 Stator

14 Seal 42*30*7 46 Steel Ball 95 78 Middle Cap

15 Big Seal Washer 47*37*1 47 Steel Ball Damper 79 Motor Housing

16 Circlip 27.5*2 48 Releasing Spring 80 Screw M5x28

17 Bearing 6906 49 Spring Seat 81 Nut A M4X10

18 Circlip 30 50 Circlip 8.3X1.2 82 Carbon Brushes (Pair)

19 Cylinder 51 Bearing 627 83 Brush Carrier

20 Steel Ball 96 52 Crank Shaft 84 Spiral Spring

21 Flat Pin 3X3X16 53 Steel Ball 5.5 85 Self-Tapping Screw ST4.2X10

22 Cylinder Spring 31X3.2X70 54 Bearing 6202-2Z 86 Bottom Cover

23 Big Bevel Gear 55 Circlip 35 87 Self-Tapping Screw ST4X19

24 Circlip 33.5*28*1.5 56 Circlip 13.5X1 88 Inductance

25 Ram 57 Pillar Spring 7.5X1.4X30 89 Switch

26 O-Ring 18X3 58 Pillar 90 Right Handle

27 Piston Pin 6X23 59 First Gear 91 Capacitance

28 Piston 60 Washer 21.5¥12.5*0.5 92 Left Handle

29 Connecting Rod 61 Needle Bearing HK1210 93 Self-Tapping Screw ST4X16

30 Oily Bearing 8*12*10 62 Gasket 94 Cord Clamp Plate

31 Circlip 47 63 Gear Box 95 Cord Sheath

32 Oily Bearing 47*30*10 64 O-Ring 28*2 96 Power Cord

2710

Rotary Hammer 900W-28mm



